at) @z = arcsin xdx y(0) =
L?’v through 36, obtain the requested results
the given equations analytically or, if necessary,

,ﬁ
iphing ggmerlcally generated approximations to the

Sol "the 1mt1al value problem
1 r=(1 $33)/(12% - 12y),  y(0) =

| .;:-;rj;‘i mine the interval in which the solution is vaiic
ﬂ:ﬂd the interval of definition, look for points »
integral curve has a vertical tangent.

.,: (
R ir A
gy

; vg: the initial value problem
o =2/(2* =6), y1)=0

! Sf

”“ : the interval in which the solution is valid.
O | J% the interval of definition, look for points where
; “ urve has a vertical tangent.

the initial value problem
e W e the solution attains its minimum value.

;l '. ... v ‘ -‘ } R »

\

y(0) =

the solution attains its maximum value.
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33. Solve the muat mlué .
3 ,vtf&ﬁ

Y - 2COS 2.x/(10 +2y),
and determine where the solution attains its na % n T
34. Solve the initial value problem e

y =20+00+y), y0)=0

and determine where the solution attains its minimum value.

35. Consider the initial value problem
¥(0) = |

‘a+ Determine how the behavior of the solution as ¢ mcrm

ds on the initial value y;.
pose that y, = 0.5. Find the time 7" at which the so-

reaches the value 3.98.

"=1ty(4 -y)/3,
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ider the initial value problem

V =ty =y /141,  y0) =y, >0

(a) Determine how the solution behaves as t = 0. T
(b) If y, = 2, find the time T at which the solutl,_"'f
reaches the value 3.99.

(¢) Find the range of initial values for which the so
in the interval 3.99 <y < 4.01 by the time r=2. |

37. Solve the equation : o ; |
S .':.'*

?}

dy ay+b “i‘f ;w

dx cy +d °~ ‘:.’“ iy
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o* 2l e L,

by o s PR > ;-,s‘)‘._ "
- BA

' -F; b0
where a, b, ¢, and d are constants, A
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